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91 # 1,792,603 513,829 22,171 43.0
92 = 1,822,075 520,954 20,614 40.0
93 # 1,853,029 528,432 19,825 38.0
94 & 1,880,316 535,405 19,338 36.0
95 & 1,911,161 542,368 19,205 35.0
96 & 1,934,968 548,879 19,435 36.0
97 & 1,958,686 554,325 19,180 34.0
98 = 1,978,782 559,082 18,515 33.0
99 = 2,002,060 564,019 15,838 28.0
100 = 2,013,305 566,338 18,041 32.0
101 # 2,030,161 566,094 19,866 36.0
102 # 2,044,023 564,704 16,757 29.0
103 # 2,058,328 562,057 17,360 31.0
104 # 2,105,780 566,600 22,384 40.0
105 = 2,147,763 575,319 23,786 41.0
106 # 2,188,017 581,397 23,356 40.0
107 = 2,220,872 585,126 22,583 39.0
108 = 2,249,037 585,509 22,841 38.0

TR KR P R



%~

ByEa B L

- AT K3

v T -

FeFD - Bl v 2

@

1 A S B
FR L RSHE TPEL 2977 T B ff’#p’fﬂ

—

C e R eFF T 2 B F
[EREE *

A4y

Ff’]"f—; % @?i?ﬁ?‘gém“ﬁ:%"r ,gg_g.‘w,/f BT B %&’4,2?
G- BEERSETA TR DB NP FRA RS 5591 1103

2,

E LR R TET_";Q = 0>

22~ T2

@A 150104 1 108 # Pl A
4 TAB R o WAL (R H i A

1> %’%’U;T—fa FEF T T
CERP AT A (L4 2)

[Ei R S

L&

e 4% 5 (%)

(44 7% e %8/ # ¢ 4 v )x100%

L e 4 S8 (%)

(A]J}/T;j;*4r«+—&]4}\ Ar)/15;§;4up—4er+s\ﬁ&/\rv
x100%

TG W Lt (%)

(F Bfmenls T 49 A4 A v /15 T 49 &4 4
© )x100%

TEELLFEHT (%)

(5425 B% A0 %7 eh15 % 49 A+ A v /151 49
Bk 4 )X100%

R g AT R I

T 3o A 'a,{ﬁwﬁr%ﬂ(m) I ias r’?,{ﬁav’ﬁﬁ/i&;ﬁ SN 3
FARENOEFRARRTFRRIEL > F R AURE
Feri H 5 AT 0 41%’\:}%3{ A2 ¥ A

H 2 g #02 2010 # 5 AW 4 K
FERBFGLAB SR AT LS

B St A Ra s eapc e 0 1191 1 103 & 5 ¥R
¥=0-104 % 108 #=1

2

AR E LU ET 2§

SR - A
Nl F s»«;?“

% { i¥ P~/ (Backward Selection) &
TF ABA Y

—ABD BOERCR S 0 RE B LM R E R AR B0 E - )
ﬁii”&ﬂ‘%‘ ESRL

3



BchpF oo B REaE 2 2 157 0 R-square 2% o (A WA R T
A EFEF (LA 3)e

23 #1145

AR % e S S s t-value p-value
(% 3E) 54.33 3.24 16.75 <0.001
THAF AR E T -0.47 0.08 -6.15 <0.001
4 T A B ok 13.00 1.70 7.65 <0.001

R-square = 0.7965, Adj R-square = 0.7694
F-statistic = 29.36, p-value < 0.001

Shapiro-Wilk normality test p-value = 0.0822 > 0.05
Breusch-Pagan test p-value = 0.0180 < 0.05
Durbin-Watson test p-value = 0.3684 > 0.05
Box-Ljung test p-value = 0.7839 > 0.05
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4~HA 14 E- 44 7 F2% Cook's Distance

au mmrraw| O 4y w |-maram S| 4y
Distance Distance
91 & 43.0 0.1914 5 100 & 32.0 0.0002 #.
92 # 40.0 0.0391 =4 101 # 36.0 0.3937 i
93 & 38.0  0.0000 J& 102 # 29.0 0.0394 b
94 & 36.0 0.0148 Fr 103 # 31.0 0.0961 5
95 & 35.0 0.0165 ¥ 104 # 40.0 0.0532 =
96 # 36.0 0.0025 7 105 # 41.0 0.0094 &
97 & 34.0 0.0025 & 106 # 40.0  0.0045 Fr
98 & 33.0 0.0045 = 107 & 39.0 0.0019 b
99 & 28.0 0.2294 T 108 # 38.0 0.0001 e
3 Cook's Distance — 4 1/ n(#;i\g:) AT S Bt P R T RARARREEE > Abt F L 118 =
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213 % dc R S i t-value p-value
(B 5E) 55.41 1.78 31.11 <0.001
TREA R R Sy -0.50 0.04 -11.55 <0.001
4 T A B R sk 13.47 0.98 13.79 <0.001

R-square = 0.9362, Adj R-square = 0.9264
F-statistic = 95.45, p-value < 0.001

Shapiro-Wilk normality test p-value = 0.7167 > 0.05
Breusch-Pagan test p-value = 0.5703 > 0.05
Durbin-Watson test p-value = 0.4764 > 0.05
Box-Ljung test p-value = 0.4604 > 0.05
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91 = 43.0 8.5 48.6 55.2 27.7 15,979 251,277 54.6 0
92 & 40.0 8.6 49.0 54.3 33.5 17,532 248,638 50.4 0
93 & 38.0 6.5 49.4 53.1 34.9 20,205 260,039 56.0 0
94 & 36.0 7.1 50.9 51.9 36.7 17,371 264,219 58.6 0
95 & 35.0 7.0 51.9 51.0 38.3 20,857 265,209 63.2 0
96 # 36.0 6.5 51.8 50.0 40.3 13,881 282,757 67.7 0
97 # 34.0 7.5 52.0 49.5 42.1 14,213 271,965 70.1 0
98 & 33.0 5.6 51.0 48.4 43.8 11,371 268,841 68.6 0
99 = 28.0 6.5 51.4 47.5 45.7 17,622 272,470 75.6 0
100 = 32.0 7.7 51.8 46.9 47.3 4,082 273,295 82.9 0
101 = 36.0 6.7 51.8 46.0 49.3 7,967 281,727 86.4 0
102 & 29.0 6.7 51.9 45.4 51.3 8,069 288,668 98.7 0
103 & 31.0 6.8 52.1 44.8 53.1 8,799 314,701 103.0 0
104 = 40.0 7.5 52.2 45.2 55.3 36,668 311,248 102.3 1
105 = 41.0 7.1 52.0 45.4 57.4 30,834 325,471 97.9 1
106 = 40.0 6.8 51.2 45.4 59.1 29,518 327,133 106.5 1
107 # 39.0 6.6 50.0 454 60.9 23,110 346,623 110.4 1
108 = 38.0 6.2 50.2 45.1 62.6 18,522 385,603 113.8 1
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